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Balancing Equations
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More Balancing Equations!

| atgrss D k> > ker+_) Al
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| Feo+ | _PdF> L FeFp+_ 1 PdO

A e (o> Y per

_Z g+ Bro> 2 LiBr+ b,

| pbBro+_2-Hci> _2=Her+ | PbCle
2 CoBrs+_D_CaS04~> 3'Ca8r2+ | Coa(S04)s

2. Nap+ D CaFr>_©@ NaF+_ L casP

2 Mo+ @ HI> 2 Hy+_2- Mnl

| LipOs+ 2 NaBr>_L_ NaPOs+_>_Lidr

|\ oo\ 1ip504> U CaS04+ _Z= LiF
2 har+ | mg(OH): > ' MgBro+ _Z—H.0
2~ 1iNOg+_\_CaBro> __ 1 Ca(NOs) + 2= LiBr
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Name

Balanecing Equation Review

1.2H; +1 0z --->2H,0

2.( Sg #20, ~-->%S03

3,2Hg0 A Hg 402

4.\ Zn +2HC] ---> 1ZnCl HHy

5. 2Na +2H,0 --->2NaOH + 1 Hs

6. 1 CioHjg +8Cly --->1C AEHCL
l‘-{SizHg +110; >8I0, +6H0
g.ﬂFe +30; --->2Fe;03 J
9.2 C;H03 HED, —>1C0, 16O
104FeS; H1O; --->2Fey03 183502

11} Fe,05 43H; --->2Fe +3H0 .
1K + 1By > 2KBr

1320, +6 0; --->4CO; + 2H,0
142H,0, --->2H,0 +102

151CHg +10; -->3C0O; +8H,0
164810, +4HF ---> SiF4 T+ H0
177KClO; --->2KCl +20,

184K CIO; -->2KClog +1KCL .
19)P401 +(H0 --->HHiPO4
2048b +30; ---> {SbeOs

21§C3Hg +50; --->3CO0, +4H,0
224Fe,0; + 3CO --->2Fe +t3CO;
_23.|PC15 +YH,0 —->5HCl + 1H3POq
244H,8 +%Cl, ---> S +HHCL

253Fe +4H,0 > 1Fe304 +’—(H2
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261N, +3H, —-->2Nll;s

279N, +10, —->2N;0

28600, +GH,0 - 1CellnOs +602 |
291SiCl +YH0 > 1HsSiOs +4HC
30213PO4 > 1HsP07 + [0

411CO, +2NH; > tOC(NHz) + 1H0
102A1(0H); +3Hz80¢ —> 1A1L(S04)3 +H0
33{Fex(S0s)s +GKOH ~>bK804 +2Fe(OH):
I TLS0s +FHI —>RHS +4h +HH0
352A1 +3Fe0 -->1ALO; +3Fe

16({ Na,CO3 +2HCL —>zNaCl +tH0 + 1CO;
37\Py +50; -—>2P:0s '

381K,0 + |H;0 -->2KOH

394A] +30; —-->2AL0s

SO0, +2H0 > 4NaOH +10;

A1IC + (H0 ~—>1CO + (T

429H,As04 > 1A$0s +3H;0

43) Aly(SO4)s $3Ca(OH), --->2AI(OH); +3CaS0s
441FeCly +3NHQOH --> Fe(OHs +3NH,Cl
452 Cag(POLY, + 6 Si0; ---> [P4Or0 +oCaSiOs
JENOs + (0 ~>2HNO; -
47281 +GHCL --=>2AICl TS

43(H;BOs > HuBeOu +3H0

498Mg + 1Ny > Mg

502NaOH +(Cly ---> jNaCl + (NaClOo + {HO




